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The development of Llinear models

parameter
estimation

Hierarchical Bayesian Model MCMC

Be m9re/&Generalized Linear Mixed

flexibte Model (GLMM) e
f;ﬁgg;“;ﬁ;ggts /& Generalized Linear
such as individuality Model (GLM)

Always normal MSE
distribution?
That’ s non-sense! Linear model

Kubo Doctrine: “Learn the evolution of linear-model family, firstly!”
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000000 (00) 0D0Do0ooooooo

00000000000000
0000000000000 e

00 i 000 y
05000 00 {y}0O00oooo!
ie{1,2,3,---,50} {vi} = {v1,92, ,ys0}

=

00000 {y,} 0000 ROODODOOOOOOOOO

gooooooobooooboooo
> data

[1] 2246452312043333427243334
[26] 3753176465247 226245451323
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> table(data)
0O 1 2 3 4 5 6 7
1 311 12 10 5 4 4

(000 50 500000060400 ... )
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> hist(data, breaks = seq(-0.5, 9.5, 1))
Histogram of data

] [ DOobooooddooooodd
oooo oooo!

8 10 12

Frequency
?

q-_
N !_lf
O_
I T T T 1
0 2 4 6 8
data
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000000 0000 000000000000: 0000

> var(data)

[1] 2.9861

000000 0000000000 (SD = Vvariance)

> sd(data) Histogran of data
ooooooo
[1] 1.7280

gbobobgob:-0o00o0o0o
gbobobgobo:-0o0o0o0oo
> sqrt(var(data))
[1] 1.7280

Frequency
| ? 1P 12

4 6
1

2
1

0
L

data
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ORDO

o000 oooooad
>y <= 0:9 # DO00O0O0O0O oooo)
> prob <- dpois(y, lambda = 3.56) # UJOOUOOOOOOODOO
> plot(y, prob, type = "b", lty = 2) > # cbind 0000D0O
2 N > cbind(y, prob)
iy e 00 (A) 0356000 y prob
ﬂ.f ' \\\ Poisson distribution 1 0 0.02843882
g0 , °\ 2 1 0.10124222
P . 3 2 0.18021114
8 | ) 4 3 0.21385056
ol . 5 4 0.19032700
ST \ w w ! 6 5 0.13551282
0 2 4 6 8
y 7 6 0.08040427
8 7 0.04089132
9 8 0.01819664
10 9 0.00719778
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Histogram of data

o\
°
o

8 1P 12

Frequency
i

4
|

J
,
/
.
B
/ N
, N
. o
o S
o ..
o

~—
o
I T T T 1
0 2 4 6 8
data
> hist(data, seq(-0.5, 8.5, 0.5)) # JO00U0ooooood

> lines(y, prob, type = "b", 1ty = 2) # JU00D0O0OO0O000OOOO
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P(yIA) = A%,H)

eyl 0 yOODOODODODO 401x2x3x40000000
good

e exp(—A)=e* 000 (e=2.718--+)

e JUODDOOUOOOODLDOOOODLDDOOOODLDODOUODO
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Paramter )\, the mean of Poisson distribution

> # cbind 000000
> cbind(y, prob)

prob
.02843882
.10124222
.18021114
.21385056
.19032700
.13551282
.08040427
.04089132
.01819664
.00719778

prob
0.00 0.05 0.10 0.15 0.20

00 A00O0O0OD0DO00000C0O0O0000
00000000 A000O0M> 00
000000000: A=00 =00
ye{0,1,2 -+,00} 0000000000 y000000000 10
0o

© 00 N O O WN

[}
© 00N WN R, OoOX

O O O O O O O O O o

[}
-
o

> pN) =1
y=0
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8_ lambda
a 3.5
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00 (likelihood) DO OO?

e 00000 maximum likelihood (ML) estimation 0 0 0O 0O O
gooduouobooobbbbboooooogog
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00 L(\) 0000000 A000

ggboodgg:

L(\) = (yh0200000)x (w0 200000)
x - x (yd 300000)

= p(y1|A) x p(y2|N) X‘p(ysM) X = X p(yso|A)
I OV )

; ; y;!

7 7

00000000000 30000000000
{y1, o, ;3+=1{2,2,4})000000000000000000
0.180 x 0.180 x 0.19 = 0.006156 000 OO0 OO
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O0000oooooooooooooooooog (log
likelihood function) O 0O O

Yi
I%LM%:E:GM%A—A—E:mw>
k

(2

0000 logZL(\) 0000000 L(A)OO0OOOO0O0O00
00000000000000000 A00000000000
00000000000000000000000000000
000000000
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A0000000000000000O0

lambda = 2.0 -7 lambda = 2.4 S lambda = 2.8
log L = -121.9 log L = -109.4 log L = -102.0
S ER
0] 0|
o o
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
lambda = 3.2 8 lanbda = 3.6 8 lambda = 4.0
log L = -98.2 log L = -97.3 log L = -98.5
R s4 ]
0] -
g) e e
| T T T 1 T T T T 1 | T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
lanbda = 4.4 8 lanbda = 4.8 B lanbda = 5.2
log L = -101.5 log L = -106.0 log L = -111.8
S EEEN
0] w0
o o ek
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
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A

OO000DoO0DoOoDoo Ax0oOoo

0000 logL(A\) =>; (yilogh — A= >V logk)

log likelihood
110

2!0 2!5 3!0 3!5 4!0 4!5 5!0
« JOOOO (ML estimator): > . y;/50  0o000!
« 00000 (ML estimate): A =3.56 000
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Ooooooooooooog?

00Do0o0o0oog (GLM)

- 000000 (Poisson regression)
000000000 (logistic
regression)

. 0000 (linear regression)
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oo e
(X
- (LIS
oooo f °
e JDODDO: 00O {y:} coooo 000 v
e 00OO: roood
e OO0 {m}
e OO0 {fi}
god

e OO0 (fi =C): 50 sample (i € {1,2,---50})
e 0000 (f;=T): 50 sample (i € {51,52,---100})
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Jodogobgoood

®

data3a.csv [0 CSV (comma separated
value) format file 000 ORODOOO
godogooooood:

> d <- read.csv("data3a.csv")

0000 40000000 data frame
(DDDDDDDDD)DDDDDD

goooooooooo

gogdodg
data frame d O O O

>d

y x £
1 6 8.31 C
2 6 9.4 C
3 6 9.50 C
..gooo...
99 7 10.86 T
100 9 9.97 T
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data frame d OO 0O 0O: d$x, d$y

> d$x
[1] 8.31 9.44 9.50 9.07 10.16
[9] 9.93 10.43 10.36 10.15 10.92
...0ooo...
[97] 8.52 10.24 10.86 9.97

> d8$y

(1] 6 6 61210 4 9 9 9 11
[17] 3 8 5 5 411 510 6 6
LLggog...

(971 6 8 7 9

goooooooooo

8.32 10.61 10.06
8.85 9.42 11.11

6 10 6 10 11 8
7 9 310 2 9

2015-01-19
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data frame d 0 0 0 00 : d$f — factor type!

ugobooggbooodobb £thodbbuoboboan

> d$f
[fJ]cccccccecececcececcececececececececcecceccecceccec
[26 CCCCCcccccccececcecececceccecceccecceccecceccc
B TTTTTTTTTTTTTTTTTTTTTTTTT
[76] TTTTTTTTTTTTTTTTTTTTTTTTT
Levels: C T

gooogo:-bobooboboooboon
gooocoTO 200
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ROODOODOOODOODOOO

> class(d) # d 0 data.frame 00O

[1] "data.frame"

> class(d$y) # y DODODOODOO integer OO DO

[1] "integer"

> class(d$x) # x UOUOOOOOOO numeric OO0
[1] "numeric"

> class(d$f) # OO0 £ 00O factor OOO

[1] "factor"
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O0:00000000000000008

data frame 0 summary ()

> summary (d)

Min.

1st Qu.:
Median :
1 7.83
:10.00

Mean

y

3rd Qu.

Max.

: 2.00

6.00
8.00

:15.00

Min.

1st Qu.:
:10.155
:10.089
:10.685
:12.400

Median

Mean

3rd Qu.

Max .

goooooooooo

: 7.190

9.428

C:50
T:50
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DOooDOooooooooa!

> plot(d$x, d$y, pch = c(21, 19)[d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))

T |le T (Y (Y
N o @0 O
oe oOe @
o me O ®O® °
3 ® ® eE®O °
T o oe ®@ @eeeO ©
O e o0
©- 00 OeC®® @™ Oe O o e
o O® o eee
<~ o ®0 °
o o °
= e)
T T T T T
7 8 9 10 11 12
d$x
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Jood £f00bogbood

> plot(d$f, d$y)

o
¥ o
-
o |
- R i
]
o ! I
" ]
.
w—
©— r ;
: 1
<~ I '
: P T
o —
T T
C T
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9. GLMOO0OO0OOOOO

guoooobbooooooobood

OO000D0000 leglinkOOOOOOOODO
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ogoogbogoogd

00000000 (GLM)
.oogag?
.Oooono?
.OO0onooag?
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GLM O0OO0O0O0000o ooooooOooooooooono

GLM OUOOoooobooobobooobboooo

ODOodbooogog
.0000: 000000
.00000: eg., B + Box; : m,
.00000: 0000000

goooooooooo 2015-01-19 51/ 75



GLM O0OO0O0O0000o ooooooOooooooooono

GLM OUOoOooobooobobboooooboo

Jooooogd -
O 0o - —"___;i—

00000 eg, i+ Boti ottt
.00000: 0000000
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GLM O00OO0O0O0O0DO legisticUDDODOOOOOOO

Ooooooooodnnn
.0000: 0000

-00000: eg., B+ Pox; lez
.00000: logit 00000 " 0000000 «

00000 v

Jooboodoouogn
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Jodouoooooboood

d$y
249 g

T T T
7 8 9 10

00 iDDXD xooooooooooooo

Ai = exp(B + Box;)

e 503000 (0O0O0O0OD)
e ;00000000
e 00000000

goooooooooo 2015-01-19

000 ywOOO OOOOoooooooo
oooood
Al exp(=\)
p(yi’)‘i):T
ooooo....

2
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GLM O0OO0O0O0000o

Dooooooooog?

i = exp(B1 + fax;)

oo 0 N

v
o \MBL B2} {81, B2}
\ =1{-2,-08} ={-1,0.4}
| \
Al \
\
\
0_| \
— \
\
\
o \
- \
\
w_| N
o \\\
_|
o [ [
-4 -2 0 2 4

ooooooOooooooooono

ud :0o0boogd z

goooooooooo
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GLM O0OO0O0O0000o o0oooooooooooooo

00000000000 log link OO
OO 000 )N

Ai = exp(B1 + Baz;)
()
log(\;) = B1 + Box;

00000 log(DO)=00000
00000000 log link function 00 O
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Jooboodoooogn

Jo0oddooggn

.0000: 000000
.00000: B + B, N
.00000: 0000000 -

d$y
2 46 8 12
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10 ROOOOoooooo

doboooooogoouoobod

gobboboooobbboooon
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ROODOODOOOOOO ooooooOoooooOoOoOooooo

glm() 0O0O0OO

> d

y x f
1 6 8.31 C
2 6 9.44 C
3 6 9.50 C
..gooo...
99 7 10.86
100 9 9.97

OO0oD0O00 OK!
> fit <- glm(y ~ x, data = d, family = poisson)

goooooooooo 2015-01-19 59 / 75



ROODOODOOOOOO O0ooooOo0o0ooooooo0ooon

gln() 00000000
BREBMT B TIT o b
S RS OIE

fit) <-{glm(
v ~ xp€<—ETIR

family =(poissonf(link = "log"),
data = d " -
. ) v IBEBDIEE
) data. frame DIEE (BERHE)
e 0000 (DDOODOO 2):000000D0OOOY
e 1ink00: 00000 (y) 000 0O0ODO7
e fanily: DODOODOODOOODO?Y
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glm() 000000000

e family: poisson, U U U BESHIIRT V VD
Iy e N—
oo S .
e link J: "log" ;% Lin;%f&;
e 0000 (0DODODO 2): O /
ooby~x0O00000O e
oo
] =
o 00000 2=+ Bz =8

G,/ 000000000000

o JO0UDO0OOUDO ANDODOO log(A) ==
000 A=exp(z) = exp(S1 + Ba27)
o 0000 D00 ADODOODOODO: y~ Pois())
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glm() 00000 —{p,8} 00000000

> fit <- glm(y ~ x, data = d, family = poisson)

all: glm(formula = y ~ x, family = poisson, data = d)

Coefficients:
(Intercept) X
1.2917 0.0757

Degrees of Freedom: 99 Total (i.e. Null); 98 Residual
Null Deviance: 89.5
Residual Deviance: 85 AIC: 475
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glm() 000000000

> summary (fit)
Call:
glm(formula = y ~ x, family = poisson, data = d)

Deviance Residuals:
Min 1Q Median 3Q Max
-2.368 -0.735 -0.177 0.699 2.376

Coefficients:

Estimate Std. Error z value Pr(>lzl)
(Intercept) 1.2917 0.3637 3.55 0.00038
X 0.0757 0.0356 2.13 0.03358
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OO0oooood d pr>lzl)

[ (Estimate 0.0757, SE 0.0356)

(Estimate 1.29, SE 0.364)
1

\ \
1.0 1.5

[I[I[II:II:I 2000000 summary(glm()) OO0 Pr(>lzl)
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Jgoogon

> fit <- glm(y ~ x, data = d, family = poisson)

Coefficients:

(Intercept) X
1.2917 0.0757

> plot(d$x, d$y, pch = c(21, 19) [d$f]) # data
> xp <- seq(min(d$x), max(d$x), length = 100)

> lines(xp, exp(1.2917 + 0.0757 * xp)) I .. . .
N o ®eO0 O
oe ce e
== me 0 @o® °
O0o0oooooooooooa %w_’—_—_——E:;;:fffgtgzigfz
0000000000oo - e eam esem e 0 oo
o] Qe o 000
~— o ®0 [ ]
o o] [ ]
N ]
T T T T T
7 8 9 10 11 12
d$x
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Ooo000 ;0000000

et IR 000 ¢ 000 ;OOOODOoOOoooooo
o S, 0000000

Mg O:"” °.c-:.,o'."“.j. o Aexp(—=\)

[ S S PlulA) = B

O0:000 ODOODooooo

i = exp(fy + Box; + Psd;)
e S 0OOOODOOO O OO
e 000000

g4 0 (i=coOn)
11 (fi=TDODO)
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glm(y "x + £, ...) 0OOO

> summary(glm(y ~ x + f, data = d, family = poisson))
R (N I

Coefficients:
Estimate Std. Error z value Pr(>|zl)

(Intercept) 1.2631 0.3696 3.42 0.00063
X 0.0801 0.0370 2.16 0.03062
fT -0.0320 0.0744 -0.43 0.66703
...... @oooog) ...
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x + f00oogd

> plot(d$x, d$y, pch = c(21, 19)[d$f]) # data

> xp <- seq(min(d$x), max(d$x), length = 100)

> lines(xp, exp(1.2631 + 0.0801 * xp), col = "blue", lwd = 3) # C

> lines(xp, exp(1.2631 + 0.0801 * xp - 0.032), col = "red", lwd = 3) # T

sy
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otdouoboboobtdbotuobogod

o fi=0C: )\ =exp(1.26 + 0.0801x;)
o fi=T: \ = exp(1.26 + 0.0801z; — 0.032)
= exp(1.26 + 0.0801x;) x exp(—0.032)
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otdouoboboobtdbotuobogod

(A) 0000000 (B) 0ODOOOO
A=exp(Bi + Bz + - +) A=B1 + Box + - -
<eo| OO0 (multiplicgfive) | 000 (additive)
o 2
O
DO (=)
0= 2
O goo
goon
LO— -
T T T T T T T T
5 10 15 20 5 10 15 20
ooogd =z ooog z;
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